AS55EMBLY DIAGRAM

SIGMA )5

3Y =PS5pecial Lighting

Kit includes

® Two (2) Sigma X5 Pod @ One (1) Deutsch wiring @ Mounting bracket and hardware ® Two (2) cover lamp

S0

. \

Mounting kit and hardware

00w
205
44o

A bracket

B M6 Flat Washer

A (A O O

D M6*18 Round Head Screw

e o e

F M8 Spring Washer

IR

H M8*30 Round Head Screw

0 0 0 0

C M6 Spring Washer

a5 S S

E M8 Flat Washer

D2®

G M8 Nut

i

| M8*30 Hex Screw

Wiring

® Use the included wiring harness to make the connection




